| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

OB
g F
D07t e A
= oo : : : hd : : : :
3 oo : : S : : :
0,06+t
e
NENT
G03E

5 R e o o s
s Tt o

.QJ_,\_Q:IIII.IIII.IIII.IIII.II

o0

© r

m l__ ........................................................................
%1 R S e # ------- T R

0 E=50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__mkFitNewOLD1000time__RECO

o1 —«— DQM_V0001_R000000001__ Global _mkFitNewTEST1000time__RECO
N . N T N T
N ; ;

.00
3 T
P08 o oo frooeeee e

*‘f’ AT
SRR BN

004t L

003
0.02F bbb
- ' ' ' |dg

00t
o+

S N R OV G
e U\ | H e —
0.of é )l L ML :

-30 -20 -10 0 10 20 30
TP dz (cm)

Rati




	Contents
	Page 1


